Under standing how to read the GMROI reports
What is this fancy schmaltzy “GMROI” thing anyhow? Not another dumb report which doesn’t help me!
Actually the whole retail world studies their GMROI reports. It’s the only way to know if your inventory is doing what you hired it to do.
GMROI measures how well you’re handling inventory and how much money its making you. If you’re like most retailers you only look at how much

money you made when you sold an item. That’s not the most important number!

Let’s say you buy 10 chains from Leslie’s Chain Company at a cost of $100 a chain and you intend to sell them for $225. You bought 10 so you’ve
invested $1000 in total with Leslie’s.

Letssay in ayear you sell 3 chains. Did you make a profit? Yes. The 3 chains cost you $100x3=$300 and you sold all 3 for $675. So you made
$375.00.

But do you HAVE any money? The answer is NO! You did make a profit but you had to pay Leslie’s $1000 and only took in $675. You’re still
short $325.00.

So you made money but have none. That’s GMROIL. If this had been one full year then you should have stocked only 3 chains, not 10. Then you
would have made money and also HAD some money.

So instead of looking at Gross profit Per Sale you should be looking at three numbers, not just one.

1 Gross profit dollars, plus...
2. Average inventory during the year.
3. Turn, how often the item sellsin ayear.

These 3 numbers make up GMROI with only 3 Point of Sale programs giving it to you (InCom is one of the 3) .

So GMROI tells us how much money we are making or losing on ALL INVENTORY. That means we look at the money from the items that sold
plus the “loss” we had from items that didn’t sell.

On the next page is GMROI report totals for a jewelry store, I’ve left out the details.
The first thing you want to look at is the totals for the store, usually on the last line. So lets go to the next page and get started.



InCom GM-ROI Report

509 Glendale Ave #204 as of: 06-Jan-10 2:28:07 PM
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Although this may sound odd, we’re going to use this report, sales aren’t typical for a year in a store, but play with me here. Heres’ a description of each humber:
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Sales for the whole year

Cost of those sales we made.

Gross profit dollars from those sales.

The margin we made on those sales

The amount of inventory we had “on average” during the past 12 months that allowed us to make those sales.

The current inventory level. Could be more or less than #5 as after the year we might stock up and inventory would be higher.

The number of units we sold. Thisisimportant because of the next line.

Number of units left in stock today. (A tip for you: In a year if you sold 78 units, that’s all you’ll need if sales are expected to be the same. Notice here we sold 78 and have 172. Over
100 too many pieces!)

Out turn. Funny number. To find out how many days our inventory stayed around until it was sold, divide the turn (“.40” by 365 days in a year) and you’ll see for this store inventory
stays 912 days before it leaves. That’s 2.5 years! We pay for it in months and it stays for years before it sells! Yuk!

#10 is the most important number. It reads 33.5 percent, but I’d rather talk in money. Move the decimal point to the left 2 digits and you have 33 cents (I’m ignoring the 1/2 cent).
This number should be above $1.00 and this store is 33 cents. The probably have lots of debt and have a problem paying vendors.

Where does the GMROI number come from? Simple, #5 (average inventory) is divided by #3 (gross profit dollars). $5005.00 in gross profits dollars divided by an average inventory level
(#5) of $14,927. Doing the division math gives you 33.5%.

Thesecret to HAVING money in ajewery storeis Gross profit Dollars (#3) should be HIGHER than Average I nventory (#5).

If you look at #4 this store has a 45.45 margin, very respectable in today’s retail market. Their problem is they have way too much inventory. $9922 to be exact. Where is that inventory?
Typically it hidesin 2 places:

1
2.

Old inventory. “Old” is anything over a year old and remember this store’s inventory doesn’t sell in 1 year (365 days) it takes over 900+ daysto sell!
In addition to old typically there is also way too much inventory in the higher price points.

So now lets go look at a particular jewelry category and analyze it. Now we’ll have a better idea of where to put our selling dollars and which categories we need to weed out specific
items. Go to the next page.



InCom GM-ROI Report
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This is one category in the store, let’s assume its Diamond Bracelets. Thefi ing to look at isthe GM RQlWhich is 31 cents. :-(
2nd thing to look at is the difference between the Gross Profit Dollars{#4) and the Average Inventory (#3)- The difference is about $25,000 too much inventory!

Now we start to analyze the price points on the left in the same way. Look above at the GMROI for the $0—$100 price point, first line. 1ts $2.16. Great! Remember for the most part
we’re looking for an overall $1.00 or better for the total. Some price points can be poor performers you just want the total to be agood one. Why isit so good? Simple, we made $4290 in
gross profit dollars off of an inventory level of $1983. Inventory should be lower than gross profit and it is. The same goes for $100-$200, its good at $1.19

But look at the $200-$300 price point. Gmroi is 13 cents. Why is it so bad? Look at column 12 “Gross Profit Margin %” on this price point is only 14.1%. So they discounted to get rid of
stuff. But not nearly enough. This price point has $4781 in average inventory and it only made them $656 in profits. Profits should be LARGER than inventory (or inventory should be
smaller than profits). Also look at columns 7 & 8. They sold 18 units but gosh almighty, they have 4 years worth-72 piecesin stock.

Look at the $600-$800 price range. The GMROI is 18 cents but the gross profit percentage is 47%. Not bad at all. So what's the problem? Again too much inventory (compare average
inventory to gross profit dollars) and also they haven’t sold a SINGLE unit but have 5 in stock. Look at column 11—598 days these items have stayed in stock.

Look at the two boxes | drew when price points gets to $800-$1000. Notice the second box when you get to that price points sale of units drops off to nothing! Look at the left box-still
have 28 unitsin stock. The problem with this storeis:

1.) The gross profit margin (39.3%) islow, 2) They have way too much inventory, 3) They have too much inventory in the higher price points. The store buys high end and customers
cherry pick low end. In fact the store just plain outright buys more pieces than can be sold in 1 year.



1I’m here to tell you that you can’t make money once a year comes around, even if you don’t discount. Each year you sell an item and then reorder it after it sellsin December, replenishing

(You know, better to wait and get full boat!)

your stock. Here’s an example of buying a $100 ring in January and selling it in December. Then the week after you buy another one to replace the sold one.

Bought Cost Date Sold Seling $$ Profit
Jan 2005 $100 Dec 2005 $225 $125
Jan 2006 $100 Dec 2006 $225 $125
Jan 2007 $100 Dec 2007 $225 $125
TOTAL profitin 3years $375.00

Here’s YOUR STORE. You buy it in January 2005 but it doesn’t sell until 3 years later.

Bought Cost Date Sold Selling $$ Profit
Jan 2005 $100 It didn’t 0 0
Jan 2006 Didn’t buy one, [ It didn’t 0 0
still had it
Jan 2007 Didn’t buy one, | Dec 2007 $225 $125
still had it
TOTAL profitin 3years $125.00

Did you make $125.00 after 3 years waiting for someone to buy it? NO. You LOST $250.00. It was supposed to bring in $375, so you LOST.
The only way to make the second example do as well asthe first isto add in the missing profits each year and finally sell it for $475.00 in the 3rd year. But could you? Could you sell
something old and dated for a higher price when it didn’t sell at a lower price? | don’t think so.

Bought Cost Date Sold Selling $$ Profit

Jan 2005 $100 It didn’t 0 0 | havefound that storesthat havea GMROI closer to

Jan 2006 Didn’t buy one, | It didn’t 0 0 $1.00 have mor e cash and less debt.
sill had it Less than $1.00 GMROI you’ll see that your total OLD

Jan 2007 Didn’t buy Dec 2007 $475.00 $375.00 inventory level at cost isusually equal to your total debt,
one, till had it within 15-20%. Get rid of old inventory and you can get

— rid of old debt.
TOTAL profitin 3years $375.00
What to do?

1. At 12-14 months start to discount it heavily

2. Double your commission on old stuff. Give the staff extradollarsto unload it.

3. Combine#1 and #2 above.

4. |If after 18 months you can’t get rid of it SCRAP IT even for alossto get your money out of it and move it. | know thisis hard to swallow but companies that do thisHAVE
MONEY!
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